COST ABSTRACT OF GHATLA

LGED Rate Schedule July'18

SL.NO	Component		Amount
A.	Cost of Ghatla	TK	278826.21
	Deduction Contractor's Profit=10%		25347.84
	Total	TK	253478.37
	Say Total Amoun	t TK	2,53,500.00

IN WORDS: TWO LAKH FIFTY TREE THOUSAND FIVE HUNDRED TAKA ONLY

20/03/19 মাঃ আবুল বাশার মোলা জাবনুৰ আজিক সিল্পান সহকারী প্রকৌশলী আশ্রয়ণ-২ প্রকল্প প্রধাণমন্ত্রীর কার্যালয়।

20/3/19

মাৰুল কালাম আজাদ

আলম্ণ-২ একছ

Ashrayan-2 Project. Prime Minister's office.

Financial Year : 2018-19 (LGED JULY 2018)
Name of the Scheme : **Detailed estimate of Ghatla at Ashrayan-2 Project.**

9	SL Item Code	Description of Work	Unit	Location / Component	Length	Width	Height / Depth	Area / Volume	No of	Total Qty of Works	Unit Rate	Amount
	1 2	3	4	5	6	7	8	9	10	11	12	13
1	1. 4.06.01.01	Sand filling on the prepared foundation bed with sand of specified FM in layers not more than 150mm thick including necessary carriage, leveling, watering and ramming to achieve minimum dry density (MDD) of 95% STD compaction with optimum moisture content (OMC) by ramming each layer up to finished level as per direction of E-I-C.	cum	Sand filling F1	1.200 1.200	1.200	0.300	0.432	2.00	1.728 0.864 2.592	779.66	2020.88
		Sand of Minimum FM 0.8										
2	5.02.01	Earthwork in excavation of foundation trenches, including layout, by excavating earth to the lines, grades and elevation as shown in the drawing providing center lines, local bench	cum	F1	1.200	1.200	2.000	2.880	2.00	5.760		
			elevation bench at with		1.200	1.200	3.000	4.320	2.00	8.640		
		mark pillars, fixing bamboo spikes and marking layout with chalk powder filling baskets, carrying and disposing of all		F1	1.200	1.200	2.000	2.880	2.00	5.760		
		excavated materials at a safe distance designated by the E-I-C in all types of soils except rocky, gravelly, slushy or organic soil, leveling, ramming, dressing and preparing the base, etc. all complete for an initial excavation depth of 2m and an initial lead not exceeding 20m, including arranging all necessary tools and equipment at work site, etc. complete as per direction of the E-I-C.								20.160	166.71	3360.87
3	. 5.03.01.01	Single layer brick flat soling with 1st class or picked bricks,	sqm	F1	1.200	1.200		1.440	4.00	5.760		
,	. 5.05.02.02	true to level, camber/super elevation and grade including carrying bricks, filling the interstices tightly with sand of		F1	1.200	1.200		1.440	2.00	2.880		
		minimum FM 0.80, etc. all complete as per direction of the E-I-C.								8.640	450.70	3894.05
		1.0										

Areza?

S	L Item Code	Description of Work	Unit	Location / Component	Length	Width	Height / Depth	Area / Volume	No of	Total Qty of Works	Unit Rate	Amount
1	2	3	4	5	6	7	8	9	10	11	12	13
4.	5.05.01.01	RCC:1:2:4, 17MPa, Brick Chips (BC): Reinforced cement	cum	F1	1.200	1.200	0.300	0.432	4.00	1.728		
		concrete works with minimum cement content relates to mix ratio (tentative 1:2:4) and maximum water cement ratio 0.45			1.200	1.050	0.300	0.378	2.00	0.756		
		having minimum required average strength, f'cr = 24 Mpa and satisfied a specified compressive strength f'c = 17 Mpa at 28 days on standard cylinders as per standard practice of								2.484	10155.47	25226.19

Code AASHTO/ ASTM and Portland Composite Cement conforming to BDS EN 197-1: 2003 CEM-II 42.5N sand of minimum FM 1.8 and 20mm down well graded picked brick chips (LAA value not exceeding 38) conforming to ASTM C 33 and Aggregate Grading Appendix-3 LGED Schedule of Rates in/c breaking chips and screening through proper sieves, centering, shuttering in position, making shuttering fully leak proof & shuttering with plain 16 BWG steel sheet fitted over 38mm thick wooden plank panels and Standard size Bamboo Props suitably braced, placing of reinforcement in position, mixing the aggregates with standard mixer machine with hoper, fed by standard measuring boxes, maintaining allowable slump of 50mm (without plasticizer) & 75mm to 100mm (when plasticizer use), pouring, casting, compacting by mechanical vibrator machine and curing at least for 28 days, removing centering-shuttering after approved specified time period, i/c cost of additional testing charges of materials and cylinders required. Excluding the cost of reinforcement and its fabrication, welding, coupling, placing, binding etc. Additional quantity of cement and Plasticizer i.e. Water reducing chemical admixture of complying type A under ASTM C 494 to reduce mixing water required for normal workability and to maintain low water-cement (W/C) ratio (Doses of admixture to be fixed by the mix design as per instruction of Engineer) to be added if required to attain the strength at the contractor's own cost. etc. all complete as per

direction and approval of the Engineer.

slab at plinth level.

In individual and continuous footing of column, raft and floor

(Alaza)

SI	L Item Code	Description of Work	Unit	Location / Component	Length	Width	Height / Depth	Volume	No of	of Works	Rate	Amount		
1	2	3	4	5	6	_ 7	8	9	10	11	12	13		
5.		5.05.01.03.1 RCC:1:2:4, 17MPa, Brick Chips (BC): Reinforced cement concrete works with minimum cement content relates to mix ratio (tentative 1:2:4) and maximum water cement ratio 0.45	cum	Column	0.375	0.300	1.512	0.170	2.00	0.340				
	ratio (entative 1:2:4) and maximum water cement ratio 0.45	ratio (tentative 1:2:4) and maximum water cement ratio 0.4	ratio (tentative 1:2:4) and maximum water cement ratio 0.45			0.375	0.300	2.412	0.271	2.00	0.542	
	and sa	having minimum required average strength, f'cr = 24 Mpa and satisfied a specified compressive strength f'c = 17 Mpa at			0.375	0.300	1.812	0.204	2.00	0.408				
		ys on standard cylinders as per standard practice of AASHTO/ ASTM and Portland Composite Cement								1.290	14601.41	18835.82		

Queza)

Specie Bon

direction and approval of the Engineer.

In pedestal, column, capital lift wall and wall:
Below Plinth Level and in Ground Floor

conforming to BDS EN 197-1: 2003 CEM-II 42.5N sand of minimum FM 1.8 and 20mm down well graded picked brick chips (LAA value not exceeding 38) conforming to ASTM C 33 and Aggregate Grading Appendix-3 LGED Schedule of Rates in/c breaking chips and screening through proper sieves, centering, shuttering in position, making shuttering fully leak proof & shuttering with plain 16 BWG steel sheet fitted over 38mm thick wooden plank panels and Standard size Bamboo Props suitably braced, placing of reinforcement in position, mixing the aggregates with standard mixer machine with hoper, fed by standard measuring boxes, maintaining allowable slump of 50mm (without plasticizer) & 75mm to 100mm (when plasticizer use), pouring, casting, compacting by mechanical vibrator machine and curing at least for 28 days, removing centering-shuttering after approved specified time period, i/c cost of additional testing charges of materials and cylinders required. Excluding the cost of reinforcement and its fabrication, welding, coupling, placing, binding etc. Additional quantity of cement and Plasticizer i.e. Water reducing chemical admixture of complying type A under ASTM C 494 to reduce mixing water required for normal workability and to maintain low water-cement (W/C) ratio (Doses of admixture to be fixed by the mix design as per instruction of Engineer) to be added if required to attain the strength at the contractor's own cost. etc. all complete as per

Scheme Code: 32618-17-10008

		Description of Work	Unit	Location /	Length	Width	Height / Depth	Area / Volume	No of	of Works	Rate 12	13
SL	Item Code	Description of the		Component	6	7	8	9	10	_ 11		
1	2	3	4	5	0.300	0.375	3.000	0.338	3.00	1.014		
6.	5.05.01.01	RCC:1:2:4, 17MPa, Brick Chips (BC): Reinforced cement	cum	В1	0.300	0.375	9.398	1.057	2.00	2.114		
		ratio (tentative 1:2:4) and maximum cement content relates to mix ratio (tentative 1:2:4) and maximum water cement ratio 0.45 having minimum required average strength, for = 24 Mpa and satisfied a specified compressive strength for = 17 Mpa at 28 days on standard cylinders as per standard practice of Code AASHTO/ ASTM and Portland Composite Cement conforming to BDS EN 197-1: 2003 CEM-II 42.5N sand of minimum FM 1.8 and 20mm down well graded picked brick		B2	0.300					3.128	12635.83	39524.88

Ausz)

direction and approval of the Engineer.

Below Plinth Level and in Ground Floor

In roof slab of all types, cantilever slab and drop panels (excluding floor slab of ground floor at plinth level).

chips (LAA value not exceeding 38) conforming to ASTM C 33 and Aggregate Grading Appendix-3 LGED Schedule of Rates in/c breaking chips and screening through proper sieves, centering, shuttering in position, making shuttering fully leak proof & shuttering with plain 16 BWG steel sheet fitted over 38mm thick wooden plank panels and Standard size Bamboo Props suitably braced, placing of reinforcement in position, mixing the aggregates with standard mixer machine with hoper, fed by standard measuring boxes, maintaining allowable slump of 50mm (without plasticizer) & 75mm to 100mm (when plasticizer use), pouring, casting, compacting by mechanical vibrator machine and curing at least for 28 days, removing centering-shuttering after approved specified time period, i/c cost of additional testing charges of materials and cylinders required. Excluding the cost of reinforcement and its fabrication, welding, coupling, placing, binding etc. Additional quantity of cement and Plasticizer i.e. Water reducing chemical admixture of complying type A under ASTM C 494 to reduce mixing water required for normal workability and to maintain low water-cement (W/C) ratio (Doses of admixture to be fixed by the mix design as per instruction of Engineer) to be added if required to attain the strength at the contractor's own cost. etc. all complete as per

Scheme Code: 32618-17-10008

Amount

Unit

No of Total Qty

SL	Item Code	Description of Work	Unit	Location / Component	Length	Width	Depth	Volume	NO OI	of Works	Rate	13
	2	3	4	5	6	7	8	9	10	11	12	13
7. 5	7. 5.05.01.08.1 RCC:1:2:4, 17MPa, Brick Chips (BC): Reinforced cement concrete works with minimum cement content relates to mix ratio (tentative 1:2:4) and maximum water cement ratio 0.45	cum	West slab	9.398	3.000	0.150	4.229	1.00	4.229			
,, ,			Rise & Tread	0.200	0.150	3.000	0.090	22.00	1.980			
	havi	having minimum required average strength, f cr = 24 Mpa and satisfied a specified compressive strength f c = 17 Mpa at								6.209	13384.62	83105.11

Zecros Am

direction and approval of the Engineer. In Stair case slab and step Below Plinth Level and in Ground Floor

28 days on standard cylinders as per standard practice of Code AASHTO/ ASTM and Portland Composite Cement conforming to BDS EN 197-1: 2003 CEM-II 42.5N sand of minimum FM 1.8 and 20mm down well graded picked brick chips (LAA value not exceeding 38) conforming to ASTM C 33 and Aggregate Grading Appendix-3 LGED Schedule of Rates in/c breaking chips and screening through proper sieves, centering, shuttering in position, making shuttering fully leak proof & shuttering with plain 16 BWG steel sheet fitted over 38mm thick wooden plank panels and Standard size Bamboo Props suitably braced, placing of reinforcement in position, mixing the aggregates with standard mixer machine with hoper, fed by standard measuring boxes, maintaining allowable slump of 50mm (without plasticizer) & 75mm to 100mm (when plasticizer use), pouring, casting, compacting by mechanical vibrator machine and curing at least for 28 days, removing centering-shuttering after approved specified time period, i/c cost of additional testing charges of materials and cylinders required. Excluding the cost of reinforcement and its fabrication, welding, coupling, placing, binding etc. Additional quantity of cement and Plasticizer i.e. Water reducing chemical admixture of complying type A under ASTM C 494 to reduce mixing water required for normal workability and to maintain low water-cement (W/C) ratio (Doses of admixture to be fixed by the mix design as per instruction of Engineer) to be added if required to attain the strength at the contractor's own cost. etc. all complete as per

Quaz a

And

Amount

Description of Work SL Item Code 3 Supplying and fabrication of M.S High strength Ribbed or 8. 5.06.01.01 deformed bar reinforcement conforming to BDS ISO 6935-2:2006 (or standard subsequently released from BSTI) of required size and length for all types of RCC work in/c straightening removing rusts, cleaning, cutting, hooking, bending, binding or tieing with supply of 22 B.W.G. annealed binding wire double fold, placing in position in/c lapping, or welding wherever required as directed, anchoring to the adjoining members wherever necessary, spacing and securing them in position by proper size concrete cover blocks (1:1) supports, metal chairs, spacers, splices or laps etc. complete in/c cost of all materials, labour, local handling, cost includes necessary equipment and machinery, loading and unloading, transportation, all other necessary incidental charges including all leads and lifts etc. to complete the work as per specifications, design, drawings and direction of the E-I-C. (Undersize reinforcement will not be accepted under any circumstance. Measurement will be made based as length of bar on standard weight i.e. 77KN/m3 (BNBC Table 6.2.1) basis. Chairs, laps, Splice and separators will not be measures for payment. The cost of these remains inclusive in the unit rate). RB 300: Ribbed bar or Deformed bar produced and marked as per BDS ISO 6935-2:2006 with minimum yield strength, fy(ReH)=300 MPa, but the actual yield strength based on mill tests dose not exceed fy by more than the 125 MPa and the ratio of actual ultimate strength, fu(Re) to to actual tensile yield strength (fy) shall be at least 1.25 and minimum elongation after fracture (A565) & minimum total elongation and maximum force (Agt) is 17% and 2.5% respectively.

আশ্রমণ-২ প্রকল্প

আশ্রয়ণ-২ প্রকল্প

वेशनमहीत भारानम् मार्ग विधानम्कीन कार्यानम्।

2

Unit

kg

Rebar

Location /

Component

5

TOTAL SCHEME AMOUNT:

Total Oty

of Works

11

1151.830

1151.830

No of

10

1.00

Area /

Volume

9

1151.830

Width

1.000

Length

6

1151.830

Height /

Depth

8

1.000

2,78,826.21

Amount

13

102858.42

Unit

Rate

12

89.30

SAY:

2,78,826/-

In Word: Taka (Two Lakh Seventy Eight Thousand Eight Hundred Tweenty Six) Only

Queza)